
PART# 401500

2007-2018 GM 1500 2WD/4WD

REAR LOWERING SHOCK EXTENDERS

1 HOUR INSTALL TIME

Components Hardware 
(2) SHOCK EXTENDERS (4) 1/2-13 X 1" HEX CAP SCREW
(2) SQUARE PLATES (4) 1/2-13 JAM NUT

(4) 1/2" SPLIT LOCK WASHER
(4) 1/2" FLAT WASHER
(2) 7/16-14 X 1 1/4" HEX CAP SCREW
(2) 7/16-14 NYLOCK NUT
(4) 7/16" FLAT WASHER



Step 1 Jack up the rear of the truck and support under the frame rails with jack stands. Keep an adjustable jack under 
the axle for height adjustment.

Step 2 Unbolt both lower shocks from the axle and pivot them out of the way. 

Step 3  Slide the extender over the factory shock mount on the axle and loosely install the hardware. Install the flat 
washers onto the 1/2" bolts, install the 1/2" bolts through the factory shock hole, from the outside facing inward, then 
attach the 1/2" lock washer and jam nut. Then place the square plate over the ovalized opening inside the factory shock 
mount and attach it to the extender using the supplied 7/16" hardware. 

STEP
12

STEP
1

STEP
2

STEP
3

STEP
3

STEP
2



Step 4 Tighten up the 7/16" bolt first and then the two 1/2" bolts.

Step 5 Attach the shock to the extender using the factory hardware and tighten.

STEP
12

STEP
4

STEP
5

STEP
4


	PAGE 1
	PAGE 2
	PAGE 3

